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3.75

4.12
3.12

371

112

1.03

0.83
124

0.97

N=67
X
371 0.99
3.59 1.00
3.47 1.03
2.80 1.09
3.39 0.87

N=16
X
3.37 1.02
3.18 0.98
3.68 1.13
1.03 1.03
3.17 0.90

N=19
X D
3.63 095
3.63 083
4.00 0.88
315 130
360 081

N=39
X
361 106
348 109
341 101
271 102
3.30 0.91

N=33
X
3.75 1.00
3.54 1.00
351 112
2.60 1.02

3.35

0.89



47

(X-2.43)

(X=3.71)
(X=3.39 ; X=3.17)
(X=312) /
/
/
(X= 3.71; X=359) /
(X = 3.47 X = 280)
/
(X =3.68) /
(X = 3.37; X- 3.18)
) (X =3.60)

(X- 3.30 ; X = 3.35)

(X = 4.00)

no



111

(X =363)
(X = 3.15)

(X =3.48)

(X=2.71)

(X = 3.61)

(X =3.75)
(X=351)
(X = 2.60)



48

3.25

2.87

3.62

3.50

331

1.03

0.83

0.91

0.53

0.69

2.68

2.73

3.32

3.08

2.95

1.07

1.06

1.18

1.09

0.94

N =16
X SD.
2.43 1.09
231 0.94
3.25 1.06
2.81 1.10
2.70 0.93

N= 19
X
3.05 1.02
2.94 1.07
3.68 1.24
3.52 1.17
3.30 0.95

2.82

2.74

3.23

3.05

2.96

1.07

1.06

111

1.07

0.95

2.33

2.42

3.27

2.84

271

02

00

1.05

0.93

1.09

0.93

0.82



113

48

(X=331; x=295;X=270)

(X= 3.62; x =3.50) /
(X =3.25 'x = 2.87)
/
/
(X =332 /
(X = 2.68)
/
(X- 3.25 X=281) /
( X=2.43;

x = 2.31)
( ) (X=330;X =296
X =2.71) /

(X =3.68 X=352)

(x~=3.50 . X = 2.94)

(X =3.23)
(X = 2.74)



114

(X = 3.27)
(X =233)



X

3.32

3.82

3.71

3.31

3.54

0.70

0.92

0.97

0.69

0.78

N=67
SD.
2.96 0.87
3.73 0.89
3.39 0.87
2.95 0.94
3.27 0.76

N= 16
Y
241 0.85
3.53 0.97
3.17 0.90
2.70 0.93
2.95 0.77

N=19
X
3.26 0.97
3.94 1.06
3.60 0.81
3.30 0.95
3.53 0.85

N=39
X
2.64 0.84
3.58 0.82
3.30 0.91
2.96 0.95
3.12 0.76

N=33
X
2.98 0.80
3.70 0.89
3.35 0.89
2.71 0.82
3.20 0.72



49

(X = 3.54)

(X=327 X=295 )

(X=382 X=371)

(X =3.32 ; X = 3.31)

(3 = 3.30)
(X =3.12 "X = 3.20)

X = 3.60)

(X=T73)

(X=38.391X=296 ;X295

(X =3.53)

(3 =3.17;X = 2.70)
(X = 2.41)

(X=3.94

(X=3.30 X=3.26)



117

' (X=3.58)

(X =3.30 ;X=296 X=264)

(X =3.70)

(X =3354X=298 X=271)



50

4.37

3.12

3.50

3.25

2.75

3.25

3.75

3.87

3.00

3.43

0.91

1.24
092
0.70
0.70
0.88
1.38
1.12

1.19

0.64

4.37

3.32

3.37

291

3.05

3.17

3.44

3.13

2.82

3.27

0.91

131

1.40

1.26

1.28

1.16

1.14

1.43

1.32

0.86

4.22

2.81

2.50

2.50

2.87

2.75

2.87

3.00

2.25

2.83

0.86

1.16

141

121

154

1.18

0.95

1.50

1.12

0.82

4.35

3.46

3.47

3.00

3.31

3.31

3.73

3.31

2.47

3.40

0.95

1.37

1.46

1.33

141

1.15

1.04

1.56

1.17

0.90

N = 39
X
3.92 0.98
2.97 1.24
3.12 1.47
261 131
2.41 1.14
2.87 1.19
3.28 1.27
2.84 1.46
2.46 141
2.94 0.86

N = 33

X

4.39 0.74
3.24 1.25
3.21 1.29
3.09 1.01
351 1.12
3.27 1.06
3.27 1.03
3.48 1.25
3.21 1.08

341

0.75



50

? (X =343 X=327;
) =2.83)
2 2
? ' wkm m
? (X=4.37; X=3.87; X=3.75;X=3.50 )?

(X=325 ?

(X = 2.75)
2 ?
2
( =437)
1 (X = 3.44)
2 (X=2.82)
?
? ?
?
(5=4.22) 2 2
0 = 2.25)?
2 (x = 3.00)
?
(X = 2.50)
?

(X=340 X=294 X=341)



(X = 3.47)
(X = 3.00)

(X=435 =373 'X=346 )
(X =2.47)

(X = 3.28)
(X = 2.84)
(X = 3.92)
0 =246 ~'=2.41)

() = 3.48)
(X =3.09)

(X - 4.39 4X = 3.51)

120



51

3.50

350

4.00

3.75

3.62

3.00

3.56

0.53

0.75

0.75

1.03

1.06

141

0.61

3.38

3.23

3.80

3.71

3.46

3.50

351

67

111

.07

0.95

1.05

1.18

1.09

0.83

X

3.37

2.87

3.62

3.56

3.18

3.18

3.30

1.14

0.95

0.88

0.89

1.04

1.04

0.53

N=19
X SD.
3.36 101
3.36 101
3.78 1.13
3.89 0.93
3.52 121
352 130
3.57 0.86

Y

3.33

3.05

3.61

3.38

3.12

3.43

3.32

1.05

1.05

0.87

111

1.26

1.09

0.78

N=33

X

3.48 1.14
3.27 1.03
4.00 0.82
3.93 0.86
3.72 0.87
3.30 1.04
3.62 0.67



122

51

(x =3.56x = 3.51)

(X = 3.30)
/
(X = 3.00)
(X = 4.00)
(X = 3.50)
/ (X=4.00;X=3.75;X=3.62 )
(X=346;X=338 ;X=323 )
(>=3.62 X=356)
(X=3.37)

(X =287)

(X=357 X=362)
(X =332)

(X = 3.89)



/ (X =352)

= 3.36)
!
() =343
(X=3.05

(X =3.61)

« «

(X=4.00;X3.93;

X=3.72)

/ -
=348 X=330 X=3.27)



52

4.25
3.75
4.37
2.75

3.78

0.70
1.28
0.91
1.38

0.84

N =67
X”
4.02 1.10
2,19 115
3.67 =2
2.90 1.32
3.45 091

N = 16
X« SD.
412 0.80
2.50 1.03
3.06 0.92
2.68 0.87
3.09 0.68

4.05
3.42
4.00
2.78

3.56

112
1.07
1.05
1.39

0.86

N =39
X
4.10 0.99
3.12 119
3.53 1.07
294 121
3.42 0.83

N = 33
Xll
4.03 101
2.93 122
351 134
2.84 125
3.33 0.95



125

52

(X=3.78)
(X=3.45 X=309 )

(X = 2.75)
() =4.37)
(X -3.75)

(X=4.02 ;X =3.67)
(X=319;
X = 2.90)

(X —4.12)

(X = 3.06)
(X = 2.50)

(X = 3.56)
(X =342 X=3.33)

(x = 4.05+1) =4.00)
(X =342 ;X = 2.78)



126

(X=4.10 ; X = 3.53)
(X=3121
X = 2.94)

(X =4.03 ;X=351)
(X =293
X = 2.84)



A w0 DM o

53

fl

362
3.37
3.62

3.75
4.12

3.70

074
0.91
0.74

148
0.83

0.76

N =67

X SD.

3.65 1.09
3.64 1.09
3.58 1.04
3.80 0.98
391 0.96
371 0.90

N=16

“x

3.75 1.00
3.37 1.20
3.37 1.08
3.75 0.93
3.93 0.85
3.63 0.93

N=19

X' SD.

3.73 1.04
3.57 101
3.63 0.95
3.64 1.05
410 0.87
3.74 0.86

N =39

X

351 1.12
3.28 1.16
3.23 1.03
3.61 0.98
3.66 0.95
3.46 0.93

N=33

X

381 095
3.90 0.97
3.87 0.96
4.06 0.99
4.15 0.87
3.96 0.77



53

X =3.71; X = 3.63)

(X =3.62)
(X=3.37)

(a =3.75)

«

("x= 3.46)

(X = 4.10)
(X = 3.57)

(X =3.91)
(X = 3.58)

(X = 3.93)

(X=3.37)

(X =370 ;

(X = 4.12)

(X=3.74 X=3.96)

128



129

(X =3.66;X=361 X=351)
(X=328 X=323)

(X = 4.15)
(X = 3.81)



3.62

3.75

3.87

4.25

4.00

3.90

1.06

116

1.24

0.88

0.92

0.98

3.88

3.85

3.61

4.16

3.86

3.83.

1.17

1.04

118

0.93

1.08

0.88

N

3.43

3.81

3.43

3.81

3.93

3.68

16

SD.

1.15

110

1.31

122

1.23

0.99

N =

4.21

4.05

4.05

4.21

4.05

4.11

19
SD.

0.91

102

0.97

0.85

0.91

0.80

N

3.46

3.82

3.56

4.02

3.92

3.75

39
SD.

121

1.07

1.18

1.03

1.15

0.92

N

3.51

3.72

3.39

4.15

3.75

3.70

3
SD.

112

1.06

1.29

1.00

n

0.93



(X=390 X=383 X=2368)

(X = 4.25)

(X=3.62)
(X = 4.16)
(X = 3.61)
fl
(X =3.93)
?
(X=38U
1

(X = 3.43)

(X =411 ;X=3.75;X = 3.70)

131



(X = 4.21)

(X = 357)

(X = 4.02)
(X = 3.56)

(X = 3.46)

(X = 4.15)
(X = 3.51)

(X = 3.39)



55

* <05
55

55

F Ratio

1.9066

1.7546

0.8976

4.3914*

1.6034

1.5185

F Prob.

0.1547

0.1790

0.4112

0.0152

0.2070

0.2247

133



* p<05

56

56

.05

F Ratio

3.7275*
0.5126

0.0229

0.1560

0.8819

0.3124

0.3815

F Prob.

0.0279
0.6007

0.9774

0.8558

0.4176

0.7325

0.6839

134



* p< 05

57

57

F Ratio

1.7256

0.6053

0.0284

0.3746

F Prob.

0.1840

0.5482

0.9720

0.6887

135



*p<.05

58

58

2)

.05
.05

F Ratio

2.6016

5.1205*

4.7145*

5.2423*

1

F Prob.

0.0799

0.0079

0.0113

0.0071

136



59

*p<05

59

1 :i OII

F Ratio

1.5185

0.3815

0.3746

5.2423*

1.9816

F Prob.

0.2247

0.6839

0.6887

00071

0.1440

137

.05



* P<C5

60

F Ratio

4.6153*

2.8811

1.7029

5.9606*

1.9225

3.6238*

60

.05
.05
2

1)

F Prob.

0.0124

0.0614

0.1881

0.0037

0.1523

0.0307

138



* p< 05

61

61

F Ratio

0.2102
0.2780

0.0092

0.0071

0.G365

0.6840

0.0245

F Prob.

0.8108
0.7579

0.9909

0.9929

0.9642

05073

0.9758

139



* p<.05

62

62

F Ratio

2.0098

2.5050

2.2702

2.7242

F Prob.

0.1401

0.0875

0.1093

0.0711

140



* p<05

63

63

«

«

F Ratio

1.5267

0.0756

2.9630

1.7461

F Prob.

0.2230
0.9273

0.0568

0.1804

141



*p< 05

64

1
) 2

3)

F Ratio

3.6238*

0.0245

2.7242

1.7461

1.7665

F Prob.

0.0307

09758

0.0711

0.1804

0.1760

.05

142



65

* p<.05

.05

65

F Ratio

2.9892

4.1097

1.6128

2.0918
1.2785

3.7391*

F Prob.

0.0555

0.0183

0.2052

0.1296
0.2836

0.0276

143



* p<05

66

66

F Ratio

0.0788

0.0105

0.0415

1.3048
1.3253

0.3756

F Prob.

0.9243

0.9895

0.9594

0.2764
02710

0.688C

144



67

*p< 05

67

F Ratio

0.9133

1.2784

1.5080
1.1967

1.0378

F Prob.

0.4050

0.2836

0.2270
0.3070

0.3585

145



* p<05

68

68

F Ratio

1.5246
1.2395

0.3000
1.1281

1.1817

F Prob.

0.2234
0.2945

0.7416
0.3283

0.3116

146



“ p<.05

69

F Ratio

( ) 3.7391*

( ) 0.3756

1.0378

) 1.1817

1.7679

69

F Prob.

0.0276

0.6880

0.3585

0.3116

0.1767

147
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* p<05

70

70

mip

F Ratio

0.8096
1.0589
2.7839
1.1608
0.2920
0.9645
2.1183
1.1133
1.4640

2.0564

F Prob.

0.4483
0.3512
0.0672
0.3180
0.7475
0.3852
0.1263
0.3330
0.2369

0.1340

148



71

* p<.05

71

F Ratio

0.0415

1.1760

0.4649

0.1585

0.4952
1.1172

0.5534

F Prob.

0.9594

0.3133

0.6298

0.8537

0.6111
0.3318

0.5770

149



2

A WD

*p<.05

2)

F Ratio

0.1955
3.6773*
3.6955*
0.3039

1.8740

72

1) 2)

F Prob.

0.8228
0.0293
0.0288
0.7387

0.1596

150

.05



gos W N p

* p<05

13

73

F Ratio

0.0586
0.5171
0.2829
0.0262
0.1874

0.0539

F Prob.

0.9432
0.5981
0.7542
0.9742
0.8294

0.9476

151



14

* p<05

74

«

F Ratio

0.2987

0.0361

0.3539

0.9146

0.0711

0.2068

F Prob.

0.7425

0.9645

0.7030

0.4045

0.9314

0.8136

152



* p<.05

15

75

F Ratio

0.3399

0.8973

0.3586

2.3443

0.0406

0.3587

F Prob.

0.7128

0.4114

0.6997

0.1019

0.9602

0.6996

153



* pc.05

16

76

F Ratio

0.1544
0.1633

0.0036

0.5312

1.0695

1.4189

0.3971

F Prob.

0.8571
0.8496

C.99%64

0.5898

0.3476

0.2475

0.6734

154



* p<05

1

77

F Ratio

0.4758

0.7279

0.9267

0.2456

F Prob.

0.6229

0.4858

0.3997

0.7828

155



* p<05

18

78

F Ratio

2.4409
2.0689

0.7979

2.1560

F Prob.

0.0930
0.1324

0.4535

0.1219

156
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* p<05

19

79

F Ratio

0.3587
0.3971
0.2456
2.1560

0.7960

F Prob.

0.6996
0.6734
0.7828
0.1219

0.4543

157



* p<05

80

80

F Ratio

2.6844

.1636

0.5477

0.6528

1.4102

2.0269

F Prob.

0.0738

0.3171

0.5803

0.5231

0.2495

0.1379

158



* p<.05

61

F Ratio

0.5038
0.7424

0.3513

0.2324

0.0493

0.5762

03359

F Prob.

0.6060
0.4789

0.7047

0.7931

0.9519

0.5641

0.7156

159



* p<05

82

82

F Ratio

0.0251

0.0503

0.1436

0.0062

F Prob.

0.9752

0.9510

0.8664

0.9938

160



* p<.05

83

83

F Ratio

0.1862
0.3108

1.4266

0.6541

F Prob.

0.8304
0.7336

0.2456

0.5224

161



84

A 0w N R

*p< 05

«

F Ratio

2.0269
0.3359
0.0062
0.6541

0.6789

F Prob.

0.1379
0.7156
0.9938
0.5224

0.5098*

162



* p<05

85

.05

05

F Ratio

0.8344

2.7803

6.3215*
5.6396*
0.4136

3.5490*

85

1
2)
1)

2)

3

F Prob.

0.4375

0.0675

0.0027

0.0050
0.6625

0.0329

163



* p<05

86

»

86

F Ratio

0.4988

0.4516

0.5856
0.8953

1.9523

1.0021

F Prob.

0.6090

0.6381

0.5589
0.4122

0.1480

0.3713

164



*p<05

87

87

F Ratio

0.1907

0.1310

2.1641
1.6247

0.7472

F Prob.

0.8267

0.8774

0.1209
0.2028

0.4767

165



* p<.05

88

F Ratio

3.3038*
1.7449

1.1102
2.5366

2.4545

88

0.5

F Prob.

0.0414
0.1807

0.3341

0.0849

0.0909

166



167

89

F Ratio F Prob.
1 3.5490* 0.0329
2. 1.0021 0.3713
3 0.7472 0.4767
4 24645 0.0909

1.8808 0.1585

* p<05

89
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* p< 05

.05

2)

90

D

5

90

D

2; 1

3
6)

F Ratio

2.9440
1.9870
0.3888
1.5099
8.4711*
1.4888
1.2009

1.9469
3.7402*

3.4584*

F Prob.

0.0579
0.1432
0.6790
0.2266
0.0004
0.2313
0.3058

0.1488
0.0276

0.0358

4)

168

05



91

F Ratio
1

0.1823
2.

0.7308
3.

1.5641
4. 3.2839*
5 2.6187
6. 0.2608

1.5142

* p<05
a

1)
3
4) 5)

2)

F Prob.

0.8337

0.4844

0.2150
0.0421
0.0786
0.7710

0.2257

05

169



92

* p<05

92

F Ratio

0.0459
1.0030
1.2132
0.1160

0.4169

F Prob.

0.9551
0.3709
0.3022
0.8906

0.6604

170
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*P'.05

93

«

0.05

93

F Ratio

0.8098
3.0546
3.8844*
1.8831
2.9692

3.0190

F Prob.

0.4482
0.0522
0.0242
0.1582
0.0565

0.0539

1711



94

* p< 05

94

.05

F Ratio

3.1449*

0.5724

1.8893

0.2682

0.4675

1.3521

F Prob.

0.0480

0.5662

0.1573

0.7654

0.6281

0.2640

172
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(. .2542-2551)



1
( . .2542-2551)
11

33.33

33.33

13

10

10

4-6
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ISO 9000

() 1SO9000/14000
1SO 9002
. 9002

. 9002

)



71

7.2

7.3

(. .2542 - 2551)
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